(a)

% Hemolysis

120

100

Ipa

Concentration [uM]

3c

3a 3b
120 120 120
ek e Fekk
100 100 " 100
o {)
2 2 ]
2 80 2 Z 80
£ 10 & £
] o ]
T T T
ES 5 X ®
0
OB S $ > &
&S N L &
oo° ¥ & (\+
{\\°o & &
< Concetration [pM] < Concentration [uM] < Concentration [uM]
3d 3e 3f
120 120 140
o i 120 ok
100 100
7 2 £ 100
> g 2 g0 3 80
£ £ g
% 10 % 10 % 10
= = ®
T s S s < 5
0 0 0
& N & o & y&° S & &@\ > ® &
0°° Q'\' oo° ("\- % o+
O o' .80
& & & .
" Concentration [1M] <" Concentration [uM] g Concentration (uM)
5a 5b 5c
120 120 120
ek o dekk
100 100 » 100
(2] (2]
2 2 a
2 80 2 Z 80
E w0 : E
: : :
R g E L
0 0
>
& S & & S & &> ® . $
& ¥ [ed
& 8 S
<8 Concentration [uM] < Concentration [uM] < Concentraion [uM]
5d 5e 5f
120 120 140
ek — 120 ook
100 100
2 2 2 100
2 80 2 380 E
g g g
s 10 $ 10 $ 10
= = =
T 5 = s < s
0 i
> >
& &> ® & S S & & &> &
& ¥ & ¥
o ,\‘o(‘
& 8 .
< Concentration [uM] A% Concentration [uM]

Concentration [uM]



